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Objective Intermediate Part Second - 136
Paper Code MATHEMATICS ( Objective ) Group — 11
8198 Time: 30 Minutes Marks: 20

Q.No.1

You have four choices for each objective type question as A, B, C and D, The choice w

relevant circle in front of that question number on computerized answer sheet.
Cutting or filling two or more circles will result in zero marks in
objective type question paper and leave other circles blank.acf
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Use marker or

ol inl
FD-12-2-23 /‘”J’gj Roll No. :
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hich you think is correct, fill the
pen to fill the circles.
that question. Attempt as many questions as given in

S.# Questions A B C D |
1
(0, 0) is one of the solutions of inequality: | 3x+4y>4 2x=3y>4 X+3y>5 X=3y>-4
, |Ifa strmght line is parallel to x-axis then | 1 0 %
its slope is: | - !
3 | Intercepts form of equation of line is: y=mx+c E—«’%i:,—] y =y =m(x - x;)|xcosc.+ysina =p
4 | A linear equation in two variable Citcle Siraight line
represents: 3 !
s g | IS
= i |
l’ 5 I Center of the circle (x -1y +(y+37 =3 is]  (1,-3) 3,9
"
! I i
i 6 | Parabola x* =-8y opens: Downwards
T Tength of major axis of an ellipse
= | {x _.,il-‘-'l- (y"t})' = e 4 .
2- 3&.” . _;
- Which conies'is represented by the i [
8 equation A2 —y2 =49 llipse Hyperbola !
9 | Which veetor is equal to vector j - jxk? 1 -1 i
The angle betwecn the vectors 21 + 14
10 S e 30° 450 60° 90°
and 2i - j—k is:
= . e
o y Constant Lingg : raeits
11 | If f(x)=x*+cosx, then fﬂWan ok g | Odd function Eveu- function l
12 | The range of the fun (2,%) 3,%) l [1,) [-},)
13 | L aopny=- i L ona 1 4. |
dx " “a N X xfna afnx
14 ?5}' = 2sinh x 2coshx. sinhx cosh x
15 | If f(x)=3x* ~2x +1, then '(0) = 5 -2 1 2
16 3 is the derivative of: _sinh'x cosh™ x tanh™" x tan~' x
+X =1 ~
17 | [tanx dx =: ‘ fn|cosx |4 ¢ fn|cosecx|+c | fn|secx|+c In]cotx|+c
18 | [t ax~: E; = [ = "
o 1+x2 4 3 g 6
' 2
19 | [(sin? x +cos?x)dx =: SIN X 4 03X + ¢ §in 2x + €08 2X # ¢ 1‘2_+c X+c
20 | Suitable substitution for [va2 - x> dx is: X =asecH X =asin® X=atan0 X =acotf
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. MATHEMATICS (Subjective)  Group —II g Bats
FRD —19 -2-293 Time: 02:30 Hours Marks: 80 5 VI
SECTION -1 a
2. Attempt any EIGHT parts: 16
(i)  Show that the parametric equations x =asec@,y =btan® represent the equation of hyperbola %"{T =1
a

Ex 3 4 Lim * 3
press the limit (1+3x)% interms of e.
x—=0
Lim 2x*+5x
Evaluate S —3';:-5—
Differentiate 1 by definition

X—a

2
If y=(J§ _Tl'] then find %
x

If y=0x*-2x+ :,')5 , then find %" by making a suitable substitution.

If y=¢*(l + £nx) then find %E- : o

(viii) If y=x%" thenfind y,, ¥

(ix)
(x)
(xi)
(xii)

(ii)
(iii)
(iv)
)

Define increasing and decreasing function. (]
If x=at?, y=2at then find 3L 0

dx
Graph the solution region of 4x -3y <12 , x2 -'—"; :l&

Define optimal solution. ®

. Attempt any EIGHT parts: \ 16
(i)  Find 8y and dy of y=x%~1 when x c@ m 3 to 3.02

Evaluate the indefinite integral

Evaluate j'tzm2 x dx
Evaluate f a"‘2 x dx ,\01

(viii) Find atnit vector in direction of v =[3,-4]

(ix)
®)

(xi)
(xii)

(i)
(ii)
(iii)

(iv)
{v)

Write a unit vector whose magnitude is 2 and direction is same as of v = -+ :i+ k

If a=4i +3j+k, b=2i—j+2k, find |axb]

Find a scalar o so that the vectors 2i +aj+ 5k and 3i+ }+aﬁ are perpendicular.

A force F = 4i -3k passes through the point A(2 , -2, 5). Find the moment of force F about the
point B(1, =3, 1).

. Aftempt any NINE parts: 13

Show that points A(Q, 2), B(/3,-1) and C(0,—2) are vertices of a right triangle.
Find h such that A(-1, h), B(3, 2) and C(7, 3) are collinear.
The coordinates of point P are (— 6, 9). The axes are translated through the point O'(=3, 2). Find the

coordinates of point P referred to new axes.
Find equ ation of a straight line if its slope is 2 and y-intercepts is 5.
Find the equation of the line through the points (-2, 1) and (6, —4).
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(vi) Find the point of intersection of lines x+ 4y —12=0andx -3y +3=0
(vii) Find the lincs represented by 3x? + Txy +2y* =0
(viii) Find the center and radius of the circle 5x2 4+ 5y% +24x +36y +10=0
(ix) Find the equation of normal to the circle x2+y? =25 at (4, 3)
(x)  Check position of a point (5, 6) with respect to the circle x2 +y? =81
(xi) Find the focus and vertex of a parabola x* = 5y
(xii) Find the equation of ellipse with foci (+ 3 , 0) and minor axis of length 10
(xifi) Find foci and vertices of x* —y*> =9

SECTION —II  Attempt any THREE questions. Each question carries ks.
) Lim 1-cospb
5. (a)Evaluate: besl Toteich o 05
(b)Differentiate wirt, x, SALE—VI_X ° 05
Ul +X + :.r'l -
6. (a)Evaluate: | 2 0 05
J7-6x-x
(b)Find equation of two parallel lines perpendicular to 6 =0 such that the product of the x- and
y-intercepts of each is 3. 05
E
7. (a)Evaluate T cos* t dt 0 05
]
(b)Maximize f(x , y) = x + 3y subject t Q}nstraints: 2x+5y<30; 5x+4y<20;x20;y=20 05
8. (a)If x =sin@, y =sinm0 sho aéz]yz—-xyﬁmzyﬂ} 05
(b)Find an equation of the®i g through the points A(1, 2) and B(1, -2) and touching to the
linex+2y+5=0 05
9. (a)Find center, foci &tity and vertices of ellipse x* +16x +4y* ~16y +76 =0 05
(b)Prove th sinocosf —cosasinfp 05
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